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	1.





	a.  TSA
	b.  volume

	2. The base is a square.



	a.  TSA
	b.  volume

	3.


	a.  TSA
	b.  volume

	4. 




	a. TSA
	b. volume

	5. Solve for the variables.

a)

b)

c)

d)

e)

f)




6.  Convert to degrees.
	a) 
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	7. Convert to radians.

	a) 140°

	b) 300°
	c) 150°


8. Solve for the variables.
	a)


	b)
	c)

	d) 

	e) 
	f) 

	9. A cylinder has a TSA of 126π
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and a volume of 63π
[image: image5.wmf]3

cm

.

	a)The cylinder is magnified with a scale factor 

of 7.  How many times greater is the volume of the larger cylinder? 

	b)  The cylinder is magnified with a scale factor 

of 3.  How many times greater is the total surface area of the larger cylinder?


	10.  An airplane is flying at an altitude of 30,000 feet, approaching LAX.  Its angle of depression is 5° and it will not need to change this angle before touching down.  What is the horizontal distance to the point of touchdown in miles (1 mile = 5280 feet)?


Geometry 


U10D19





Name: _________________________ Date: ____________ Period: _______








10m





8m





12”





14”





5’





13’





10’





5”





6”





6”





� EMBED Equation.3  ���





45°





a





b





x





15





28°





10





60°





m





n





12





30°





x





y





x°





15





9





6





w





x





.





O





x





F





E





26°





S





Q





R





T





x – 3





2x +5





O





x





L





K





M





127°





84°





9





A





B





C





D





x





3





7





x





18





A





B





E





D





O





C





6





A





B





C





D





26°





58°





E





x








U10D19

p. 1 of 2

_1271706632

_1556524710.unknown

_1556524734.unknown

_1271706673

_1556523798.unknown

_1271706608

